SYMBOLIC LOGIC:  DEDUCTION: RULES OF REPLACEMENT
APPLYING DISTRIBUTION IN REVERSE

You have a candidate for applying the rule of Distribution in reverse whenever you have either:

(1)  a disjunction of two conjunctions:  (A & B) V (A & C), WITH the same formula as a conjunct in both conjunctions (A).
OR
(2) a conjunction of two disjunctions:  (A V B) & (A V C), WITH the same formula as a disjunct in both disjunctions (A).
APPLYING THE RULE OF DISTRIBUTION IN REVERSE:
DISJUNCTION
1. Given the formula that appears in both disjuncts, pull that formula out of the parentheses and place it in front of the formula. 
2. Given the connective that was inside both parentheses (conjunction), place that connective after the first formula in the revision, then put an open parenthesis.
3. Within the parentheses of the new formula, put the disjunction of the two 2nd conjuncts from the original formula. A & (B V C)
CONJUNCTION
1. Given the formula that appears in both disjuncts, pull that formula out of the parentheses and place it in front of the formula. 
2. Given the connective that was inside both parentheses (disjunction), place that connective after the first formula in the revision, then put an open parenthesis.
3. Within the parentheses of the new formula, put the conjunction of the two 2nd disjuncts from the original formula.  A V (B & C)
